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Inequality Test Re\n ew

Multiple Choice
Identify the choice that best completes the statement or answers the question.

Graph the inequality on g pumber line.
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O 15. A number b multiplied by =4 is at most 3-21-.
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Write the word sentence g§ an inequality.
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b. -14b< 35

16. A number k minus 6.9 is greater than 43.
aPk-69>43
b. k-69<43 «

17. A number x is no less than 48§,
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Write the word sentence as an inequality. Then solve the inequality.

C/ 18. A number divided by 16 is |ess than —21.

a. —lg>—21 x >-336

b. -1—6- <-21;x <£-336

D 19. Eight times a number is at |east —80.
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Q 20. Which mequallty is represepted by the graph shown below?
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